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Questions which can be solved by using
options & assuming values
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B=4YS 2 2
1. 2+tan“O +cot”O is equal to :
secO.cosecO
= Lolt_'- =@ SSC CGL 4 June 2019 (Morning)
(a) cotd @D (b) cos0.sind

\jp)/sece.cosecﬂ@ (d) tanO D
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2. The value of 0 when /3cos@+ sinO = 1
(0°<0<L90°, is
SSC CGL 4 June 2019 (Evening)

“Jaj 90° (b) 60°
(c) 30° (d) 0°
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=15 3. The value of  /5¢¢?0 +cosec?0 X
@ 2 Jtan?@ -sin’@ is equal to:
=R SJQ-/ SSC CGL 6 June 2019 (Morning)
:@ s A2 & (a) cosecO. sec?0 \W{in(). sec?) 5 T2
-g\ ¢{c) sin0. cos?0 (d) cosecO. cos?0
{2 A N A

2 2o x$H



X Sing=cws o = L
\2
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B:;HS' . 4. (cosecA - sinA)? + (secA - cosA)’ —(cotA -
2X (‘ﬁ'%) - (=1) tanA)? is equal to :
2 SSC CPO 2018, 16 March 2019 (Evening)
- (& (@) 2 (b) O
= ax/L )2.. \(})/1 (d) -1
N2
= »3‘(@ ND‘\ ,
201¢€ -
Z A ?"\T ophmg Numbey & % FCorm

a)gr c T HY 3G W\m
|00/

VWMqF%
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. - ?
3Sind- 20870 5. If 3sin0 = 2co0s20, 0° < 0 < 90°, then the
wAa) 6=30 value of (tan?0 + sec?0 - cosec?0) is :
s SRR
@ AX )3; ) SSC CGL 10 June 2019 (Morning)
7
_
-2 \,w)/——
N ) (a) 3
st4-4 .
- _Sa__ Y (C) —3" (d) 2
—\S~‘2 =~
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If sin0.sec?0 = <0< ¢6° then the
,2/ 6. N Aol
1L+3 =13 value of (tan?0 + coszﬂ) is :
s 8 % SSC CHSL 3 July 2019 (Morning)
7 11
(a) 6 (b) 12
13 S
SV 15 d) o
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2 Siny - 2sinx
- Let a - ' d b -
|+Sing +0SY \+Slmc P T——

Ifa=bthenc="7?

$2 N SSC CGL 6 June 2019 (Afternoon)
.> ﬁK_=L_ éw 1 — sinx.cosx \m/l-i-sjnf (y){x
' e 'tL 3 1 + sinx.cosx 1 + cosx.sinx
2 \r? N2 2
Ve



ATHS DURSE (For all govt. ex: sy ADITYA RANJAN SIR

_asnx = 7 e 2sinx P c
H-sm!ﬂosx \+Slmc > et a T —— an 1+sinx

CSZZ_ Ifa=bthenc=7?

. SSC CGL 6 June 2019 (Afternoon)
\g_—_;_.g_ﬁ-g— ";r (a)@—s%nieosx \(b)/l + sl‘lnx —co8x
@ (c) ®" %osx (d) ®+ W
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od=0 =4S

g coSsy. & cosPp X
3 4 Yo = % 1+ 2 - B sinu +cosf sinB-cosc  sino - cosP
_1 O-1
<\f2 N2 '\}‘E-H " cospf - A al ¢
A \2 ¢+ -L’\(' = -$2x + _\\r sinf +coso. ’ -
) } +N

SSC CHSL 8 July 2019 (Morning)

:) ‘;;2/‘)%7(:. ‘ﬁX‘f Q/( (a) COSﬁ—L

. ﬁlxnﬁ (c) sinf |- (d) sina

\2
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(_7,((%) ® ) (&XI +2) 9., The value of the expression
. (cos®0 + sin®0 - 1)(tan?0 + cot?0 + 2) is :

- @6{% . |) X Y SSC CGL Tier-II (11 September, 2019)
’ (a) O (b) -1
G xu ey~ 3 ) 1

- =3 ¥
XU(
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=0

o 2 10. (2sinA)(1 + sinA)
1+ sinA +cosA

SSC CGL Tier-II (11 September, 2019)
0 1 + 3inA - cdsA (b) D=sinA-cosA-
(ec) 1+ cosA—s)Qﬂ (d) ®+sin,4-.cosA-

is equal to :
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@: ys’ 11 The value of tan?¢ + cot?p - sec?p.cosec?p
" is equal to:

SSC CGL Tier-II (12 September, 2019)

=2 (b) 1

(c) O (d) -1

1+1- PR Y
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(1+1-{2)(|'*)J5-, V2 12. The value of (1 + cotO - cosec0)(1 +_cqs0

( +sin0) secO = ?
= (2-{2) ("*‘Ff‘—)x {2 SSC CGL Tier-II (13 September, 2019)

- @-R)(2+R) (a) -2 (b2
- u-2 =(® (c) secl.cosecl (d) sin0O.cos0
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14 M -5)1+4+3)=2 12. The value of (1 + cotl — cosecl)(1 + cos0O
( < 3)( > g)q +sin0) secO = ? -

-(1-1 1+ \x S SSC CGL Tier-II (13 September, 2019)
( >( ) (a) -2 (b2
= -Q-x Hxc (c) sec() cosecl (d) sin0.cos0
P TER

= @ 5% \
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gz 13. The value of

S0 €=
2(sin®0 + cos®0)- 3(sin’O + cos*)
2(0+1)-3(0+1) cos*0 -sin*0 - 2cos?6 e
'-0-2 SSC CGL Tier-II (13 September, 2019)

= Q-3 (a) -1 (b) -2
o ", (c) 2 4y 1
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O<us .« 2 2
- ) o
14. The value of ) s:n cos4 -1 is:
_ - Lx sin © +cos ©
) '2 2 - SSC CGL 7 March 2020 (Morning)
g J¢7. \(9.)/ 2sin’0 cos?0 (b) -1
= 3 0 d 1
% ( () (@)
"4
/LV \) 2y Ly |
= 3 B ‘ — 5
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'+—2L--%+ +5 42 (1+sin@®-cosB)  (1+sin® + cos6)

Ty 3B 15. I (1 sinB+cosB) * (1+sin@-cos8) - b
then which of the following values will be
2 -3 3+ 43 suitable for 0 ?

=2+ “_5= SSC CHSL 13/10/2020 (Afternoon)

3 4+\3
=== 28 5 90° (b) 60°
T (o) (c) 45° v@
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A= -g +g 2 s 16. If x = cosecA + cosA and y = cosecA -
- @ cosA, then find the value of
Y

- _S_-q - 2 ) +(8'Y)2_1
d° 3 S " X+y 2 )
SSC CHSL 19/10/2020 (Morning)

2
3 *(%)’_\ (a) 3 ()0

(e (c) 2 @) 1
XS\ o a
) (e
S5 Nge) !
- &_1-&_'
CS S
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16. If x = cosecA + cosA and y = cosecA -
cosA, then find the value of

oy ey (5

X + Yy 2
:Q(S-‘ nﬁ)7 38 e )2 | SSC CHSL 19/10/2020 (Morning)
- \ - | 5 (a’ 3 M
(c) 2 (d) 1

‘x::(—OSQ(Q +CQSA
8~ (me(A -CQSQ
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@ 17. The value of (tan?’A + cot?A - 2) -

sec?Acosec?A is :
CGL 2019 Tier-1I(16/10/2020)
>

\—(4)/-4 (b) -1

(c) 1 (d) 4

QH-Q)‘(Q’Q)
O~
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%—‘%'“ \ 18. The value of sinB - cosO +1 g \1-sin®

-4 - CGL 2019 Tier-II(16/10/2020)
(d- !
\

+y - 3
(%’ 5 )x |+35_ sinB +cos6 -1 1+sin®
I_..
S

(b) -1
(d) 2
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1?’ ( % *%) x(l- %)4 19 secA(secA + tanA)(1-sinA)
( " )9- (cosec’A -1)sin’A
> (CGL 2019 Tier-11(16/10/2020))

z & ‘ ;
o E .__.% BfGec’d)= 35 (b) cos’A

(c) cotA (d) cosA

3 S
A

v

is equal to :
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3(0-1)1+ 6(0+ 1) +y(ot1) 20. The value of 3(sinx - cosx)® + 6(sinx +

. @ 6 _l_D cosx)? + 4(sin®x + cos®x) is :
(a) 14 (b) 11
(c) 12 (413
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3(0+)+2(0+1)+12X0x1 54 The value of the following is : 3(sin*0 +

_ 342 40 cos?0) + 2(sin®0 + cos®0) + 12sin?6.cos?0
(a) O (b) 3
(c) 2 )5

O-o S=0 c¢-= |
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- Sind+wsoO
22. If x = a(sin6b + cos0), y =b(sinb - coso),
:) —: -U %2 yz
—_—
3,;: - then the value of 22 B2 is :
(a) O (b) 1
M-
5™ ! le] 2 (d) -2
jq‘i (‘\)lzg S:Q S~0 C=|
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9=9=45 If x = a secOcosd, y = bsecO.sind,
o &= av&z’x_L ?'. %2 yz 72
< ctan@,) then the value of —2+ ==—= 18
y= bx@xL 9 a“ b® c
\ P SSCCHSL 15/10/2020 (Evening)

2% Cloud S 4(3{ o 4 p
va



(14 gind) (l+$in/5)(l+sl'n1): R
(1~ sin) (1-Sinp) (1-Sin¥) = R
(1-sin) (1-sin?B) (1-sim¥) = RZ

D (0Sx.os?p . OS2y = RQ

=) QCOSO( s Wey - hj
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2=p=¥=0 24, If(1 + s1na)(1 + sinB)(l + siny) = (1 - sina)
(1 - sinB)(1 - siny), then each side is equal
to:

(2} cosa. cosp. cosy
O (b) * sina. sinp. siny

O (c) * sina. cosp. cosy.
O(d) % sina. sinf. cosy
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] 25. If cosecO - sinb® = x and secO — cosO = y,

h= 2= \_ﬁ @ then
a___\r q‘; _@ @ x§y2(x§+yz) ,
(a) O BNVt

(c) -1 (d) 2

B
X3§‘[L3 - Q-ng.xl;
RAR Sk
S w2 3R% )
Ve
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0=0 26. If sin® + sin26 = x and cos6 + cos26 = y,

KR then (x® + B)(x® + & - 3) = ?
g= 1 =5 \19)/211 = Y

@4y) (f4y-3) (b) 3y =&
= ©O+W) (0+y-9) (c) -2y = -

= Ux) = (d) 4y - S\
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SintA +sinB+ sin®C - 27. If A, B, C are the agles of a triangle, then
— 20SA WSB: LosC the value of expressionsin’A + sin’B +

sin“C — 2cosA.cosB.cosC = ?

- 3sinA - 9 c0s®A (a) 1 \Q}/Z

= Bx3 -2x | (c) 3 (d) 4
Y Xy A
- %:2 So.
A o0 6o
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SintA +sinth+Sin’C - 27. IfA, B, C are the agles of a triangle, then
— 2W0Sh WS- LosC the value of expressionsin’A + sin’B +

sin“C - 2cosA.cosB.cosC = ?

- o+ 14’.1- ZXiXD X0 (a’ 1 \Mz
- 2-o (c) 3 (d) 4
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A=0

it e “—28. 1 + cos2x + cos4x + cosbx =7
=@ 9 (a) 2cosx.cos2x.cos3x
o(b) 4sinx.cos2x.cos3x

4 le] 4cosx.cos2x.cos3x
1 (d) cosx.cos2x.cos3x
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AabsCai=g 29. What is the value of sin(B - C) cos(A - D)
+ sin(A - B)cos(C - D) + sin(C - A)cos(B -
D) ?
3
(@) 3 (b) -3
. (c) 1 \J,d')/o
0 (B-0).
X OS(A-D) 4 cin(a .
- TR Sin(A B)Cos(c-b)i-&n((- m-QDS(Q-B}

°*o+0
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| O 60 O
30. IfP+Q + R =60° then what is the value

of cosQ.cosR (cosP - sinP) + sinQ.sinR

(sinP - cosP)
1 V3
a1 b)
1
(©) 73 (d) J2
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X=Y=2=U5 31. What is the value of

W_@

Sln0+

-
2

|

—

\2

[sin(y - 2) + sin(y + z) + 2siny]
[sin(x - z) + sin(x + z) + 2sinx] °

(a) cosx.sin y @{p)/
(c) sin z @(d) smx.tany

siny
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Note:- (i-tomb) or (I-C0t6)

tanO cotO

0=135 + = -
ToRe > ) 32. If l-cotO 1-tan®O W .y
T@ 135 = (04 135 = | SSC CGL 7 June 2019 (Evening)
Sinl3s = _\\(__2 ~— (a) cotO + sec (b) tanO.cosecO)
Cos\3¢ - s (C) tan0 + sec0O \M,/Soseee-sece
- .S ) \fz-(-\f‘z) = -2
2 =l + = - \
§> L= (-1) \_(_,6‘ 4R
S
:) ) \7 :\-H{
:) \.al N \'Hi
J
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A=0 =) S=0,C=|

ﬂé\ (23in/)(1\- sinA)
1+ sinA + cosA
SSC CGL Tier-II (11 September 2019)

4 +0 -1
OJa) 1 + sinA - cosA (b) 1 - sinAcosA

X(c) 1 + cosA - sinA (d) 1 + sinAcosA
1+1-¢

is equal to :
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@:WS'

34. The value of tan?p + cot?p - sec?p.cosec?p
isequalto: 14+4—-2%x2 =-2
SSC CGL Tier-II (12 September 2019)

\(9)/2 (b) 1

(c) O (d) -1
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6-Us 35. The value of 4
1+1 -(@+2) | p—— 2 >— — (sec?) + cosec?0) is :
- -U=-9

SSC CGL Tier-II (13 September 2019)

(a) O W— 2

(c) 2 (d) 1
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Q=0 (S=0

c=1 36. The value of

2(sin®0 + cos®0) - 3(sin*O + cos*0) -

cos*0 -sin‘0 - 2cos?0O
SSC CGL Tier-II (13 September 2019)

(a) - 1 (b) -2
(c) 2 d) 1
- 3(0+\)-3(0_\_0
1*()_2)(1
T Qa
$\Z:
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6=45 37. The expression 3sec?0.tan?) + tan®0 - sec"()

is equal to :
SSC CGL 4 March 2020 (Afternoon)
(a) -2 (b) 1

(c) 2 Jdy =1

(‘Q)S X2x1 4 1- ()8

Itk = 1-9

|

< 93
-8
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D=-Us 38 The value of
- (2)%_ 1-3x2Xx 1+ sec’® - tan®0 - 3sec’Otan’0 +1
X /—2’-, + 2 cos’0 -sin’0 +2sin’0 + 2
SSC CGL 5 March 2020 (Morning)
= 8A6 _ o
3 3 @)/g (b) 1

2
2

)
INF®

(d)
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A0 Coso=4
seco = 1 4 (1- secA)® +(1+ secA)?

39. The value of Y is
SSC CGL 6 March 2020 (Evening)

(a) 2 (b) 4

e 8 (d) 1

& i - 1\
\ |4, -
- \.{x\* =
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If x = cosecA + cosA and y = cosecA -
cosA, then find the value of

2 2
(&%) (537 -
Xty 2 )
SSC CHSL 19/10/2020 (Morning)

(a) 3 (b) O
(c) 2 (d) 1




41.

or all govt. exa BY ADITYA RANJAN SIR

The value of (tan’A + cot?A - 2) - sec’A
cosec?A is :
SSC CGL 2019, Tier-II (16/10/2020)

\Jn1-/4 (b) -1

(c) 1 (d) 4

(44"2) -2x2

Vul
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@ If (sin0 + cosecO) + (cosO + secO)’ = k + tan?0
@@ + cot?0, then the value of k is equal to :
SSC CGL 2019, Tier-II (18/10/2020)
(a) 7 (b) 2

() 9 (d) S



